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Single line to ground fault out together in class
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Sequence-components per-phase drawings of phase A
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Double line to ground fault
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Sequence-components per-phase drawings of phase A
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Line-to-Line fault ( ground not involved) Transmission Line Faults p9
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Sequence-components per-phase drawings of phase A
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Open-Circuit Faults Z |eft | Z ight
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Now the voltages are measured across the fault point and the "fault” currents are the line currents.
Single line A Open
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Sequence-components per-phase drawings of phase A
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Double line B & C Open
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Sequence-components per-phase drawings of phase A
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